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Question Number : 1 Question Id : 2549896486 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A small figure on the computer desktop screen with a program name is called:
Options :
1.  Menu

2.  Photo

3.  Modem

4.  Icon

   

Question Number : 1 Question Id : 2549896486 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
कंËयूटर डे×कटॉप ×þीन पर ĒोĀाम के नाम के साथ एक छोटी आकृित को ·या कहा जाता ह?ै

Options :
1.  मेनू (Menu)

2.  फोटो (Photo)

3.  मॉडम (Modem)

4.  आइकॉन (Icon)

   

Question Number : 2 Question Id : 2549896586 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The number system that uses strings of 0s and 1s is termed as the:
Options :
1.  decimal number system

2.  binary number system

3.  hexadecimal number system



4.  octal number system

   

Question Number : 2 Question Id : 2549896586 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
0 और 1 की ि×Ĉंग के उपयोग वाली सं¸या Ēणाली को ·या कहा जाता ह?ै

Options :
1.  दशमलव सं¸या Ēणाली
2.  िǼआधारी सं¸या Ēणाली
3.  षोडशाधारी सं¸या Ēणाली
4.  अȌाधारी सं̧ या Ēणाली
   

Question Number : 3 Question Id : 2549896862 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following components is used to store data permanently?
Options :
1.  ALU

2.  USB flash device

3.  Keyboard

4.  Monitor

   

Question Number : 3 Question Id : 2549896862 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा भाग, डेटा को ×थायी ƞप से संĀहीत करने के िलए उपयोग िकया जाता ह?ै

Options :
1.  ALU

2.  USB òलैश िडवाइस
3.  की-बोडµ
4.  मॉनीटर
   

Question Number : 4 Question Id : 2549896976 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is an example of an optical disk?
Options :
1.  Digital versatile disk

2.  Magnetic disk



3.  Magnetic tape

4.  Floppy disk

   

Question Number : 4 Question Id : 2549896976 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा, ऑिËटकल िड×क का एक उदाहरण ह?ै

Options :
1.  िडिजटल वसƷटाइल िड×क
2.  मै¹नेिटक िड×क
3.  मै¹नेिटक टेप
4.  Ìलॉपी िड×क
   

Question Number : 5 Question Id : 2549897518 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to alter text to superscript in an OpenOffice Writer 4.1.11?
Options :
1.  Ctrl+Shift+B

2.  Ctrl+Shift+S

3.  Ctrl+Shift+P

4.  Ctrl+Shift+C

   

Question Number : 5 Question Id : 2549897518 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
OpenOffice Writer 4.1.11 मƶ टे·×ट को सुपरि×þËट मƶ बदलने के िलए कीबोडµ शॉटµकट कौन-सा है?
Options :
1.  Ctrl + Shift + B

2.  Ctrl + Shift + S

3.  Ctrl + Shift + P

4.  Ctrl + Shift + C

   

Question Number : 6 Question Id : 2549897761 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is one of the elements of a light pen?
Options :
1.  Refillable ink



2.  Photocell

3.  Switch

4.  Touchscreen

   

Question Number : 6 Question Id : 2549897761 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा, लाइट पेन का एक तÆव ह?ै

Options :
1.  रीिफल करने यो¹य ×याही
2.  फोटोसेल
3.  ि×वच
4.  टच×þीन
   

Question Number : 7 Question Id : 2549898464 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is a function in MS-Excel 2019 that returns a number rounded off to the 
desired multiple?
Options :
1.  DMROUND function

2.  ROUNDM function

3.  MROUND function

4.  ROUNDDM function

   

Question Number : 7 Question Id : 2549898464 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन- सा MS-Excel 2019 मƶ एक bं·शन है जो सं̧ या  को वांिछत गुणक (multiple) तक पूणाǋिकत करके लौटाता ह?ै

Options :
1.  DMROUND bं·शन
2.  ROUNDM bं·शन
3.  MROUND bं·शन
4.  ROUNDDM bं·शन
   

Question Number : 8 Question Id : 2549898999 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is the main drawback of magnetic tapes?



Options :
1.  Shorter life span

2.  Sequential storage of information

3.  More susceptible to online threats

4.  High cost

   

Question Number : 8 Question Id : 2549898999 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से मै¹नेिटक टेप का मु¸य दोष ·या है?
Options :
1.  कम जीवन काल
2.  सूचना का अनुþिमक भंडारण
3.  ऑनलाइन खतरǂ के Ēित अिधक संवेदनशील
4.  उ¼च लागत
   

Question Number : 9 Question Id : 2549899296 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a hardware?
Options :
1.  Printer

2.  Monitor

3.  Magnetic tape

4.  MS-Word

   

Question Number : 9 Question Id : 2549899296 Question Type : MCQ Option Shuffling : Yes 
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा एक हाडµवेयर नहƭ है?
Options :
1.  िĒटंर
2.  मॉनीटर
3.  मै¹नेिटक टेप
4.  एमएस-वडµ (MS-Word )

   

Question Number : 10 Question Id : 25498922517 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The set of fields that make up information about one person is called a ______ in relational 
databases.
Options :
1.  pointer

2.  record

3.  data column

4.  structure

   

Question Number : 10 Question Id : 25498922517 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िरलेशनल डेटाबेस मƶ, िकसी ȅिǣ के बारे मƶ जानकारी िनिमंत करने वाले फीÒड के समूह को ______ कहा जाता है।
Options :
1.  पॉइंटर
2.  िरकॉडµ
3.  डेटा कॉलम
4.  ×Ĉ·चर
   

Question Number : 11 Question Id : 25498929847 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
There are two types of barcodes:
Options :
1.  symmetric and asymmetric

2.  direct and indirect

3.  linear and two-dimensional 

4.  analogue and digital

   

Question Number : 11 Question Id : 25498929847 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
बारकोड के दो Ēकार कौन-से हƹ?
Options :
1.  समिमत और असमिमत
2.  ĒÆय³ और अĒÆय³
3.  रिैखक और िǼ-आयामी
4.  एनालॉग और िडिजटल
   

Question Number : 12 Question Id : 25498930383 Question Type : MCQ Option Shuffling : 



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following lasers is used by Blu-ray Disc to read and write data?
Options :
1.  Blue-violet

2.  Red

3.  Red-violet

4.  White

   

Question Number : 12 Question Id : 25498930383 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Íल-ूरे िड×क Ǽारा डेटा पaने और िलखने के िलए िनÏनिलिखत मƶ से िकस ल_ेर का उपयोग िकया जाता है?
Options :
1.  नीला-बƹगनी (Blue-violet)

2.  लाल (Red)

3.  लाल-बƹगनी (Red-violet)

4.  सफेद (White)

   

Question Number : 13 Question Id : 25498930582 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In which generation of computers are ULSI (Ultra-Large-Scale Integration) microprocessors 
used?
Options :
1.  First generation

2.  Third generation

3.  Fourth generation

4.  Fifth generation

   

Question Number : 13 Question Id : 25498930582 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िकस पीaी के कंËयूटरǂ मƶ ULSI (अÒĈा-लाजµ-×केल इंटीĀेशन) माइþोĒोसेसरǂ का Ēयोग िकया जाता है?
Options :
1.  पहली पीaी (First generation)

2.  तीसरी पीaी (Third generation)

3.  चौथी पीaी (Fourth generation)

4.  पांचवƭ पीaी (Fifth generation)



   

Question Number : 14 Question Id : 25498930883 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is an integrated set of specialised programs used to manage overall 
resources and operations of the computer?
Options :
1.  Operating System

2.  Hardware

3.  Memory Unit

4.  Arithmetic Logic Unit

   

Question Number : 14 Question Id : 25498930883 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा िवशेष ĒोĀामǂ का एक एकीकृत समूह है िजसका उपयोग कंËयटूर के सभी संसाधनǂ और Ēचालन को Ēबंिधत करने 
के िलए िकया जाता ह?ै

Options :
1.  ऑपरेिटंग िस×टम
2.  हाडµवेयर
3.  मेमोरी यिूनट
4.  अिरथमेिटक लॉिजक यिूनट
   

Question Number : 15 Question Id : 25498930946 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is a type of liquid crystal used in LCD flat-panel monitors?
Options :
1.  Nematic

2.  Semantic

3.  Cholesteric

4.  Ferroelectric

   

Question Number : 15 Question Id : 25498930946 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िकस Ēकार के िलि·वड िþ×टल का उपयोग एलसीडी (LCD) Ìलैट पैनल मॉिनटर मƶ िकया जाता ह?ै

Options :
1.  नेमेिटक (Nematic)

2.  िसमƶिटक (Semantic)



3.  कोले×टेिरक (Cholesteric)

4.  फेरोइलेि·Ĉक (Ferroelectric)

   

Question Number : 16 Question Id : 2549898839 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is a type of network wherein any one computer can act as either a client 
or a server at any instance?
Options :
1.  Client

2.  WAN

3.  Server

4.  Peer-to-peer network

   

Question Number : 16 Question Id : 2549898839 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से िकस Ēकार के नेटवकµ  मƶ, कोई कंËयटूर िकसी समय ·लाइंट या सवµर के ƞप मƶ कायµ कर सकता है?
Options :
1.  ·लाइंट (Client)

2.  WAN

3.  सवµर (Server)

4.  पीयर-टू-पीयर नेटवकµ  (Peer-to-peer network)

   

Question Number : 17 Question Id : 2549899525 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements related to MS-Word 2019 are true or false. 
 
(i) A drop cap is a small capital letter used as a decorative element at the beginning of a 
paragraph or a section and its size is usually two or more lines. 
(ii) The Spelling and Grammar feature identifies apparent misspellings and grammatical errors 
by referring to an incorporated dictionary and a list of rules for proper usage.
Options :
1.  (i) True (ii) True

2.  (i) True (ii) False

3.  (i) False (ii) True

4.  (i) False (ii) False

   

Question Number : 17 Question Id : 2549899525 Question Type : MCQ Option Shuffling : 



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-वडµ 2019 (MS-Word 2019) से संबंिधत िदए गए कथनǂ के सही या गलत होने की पहचान कीिजए। 
 
(i) Drop cap एक छोटा कैिपटल अ³र होता है िजसका उपयोग पैराĀाफ या स·ेशन की शुƝआत मƶ सजावटी ऐिलमेÊट के ƞप मƶ िकया 
जाता है और इसका आकार Ēाय: दो या अिधक पंिǣयǂ का होता है। 
(ii) Spelling and Grammar फीचर एक समावेिशत शÍदकोश, और उिचत उपयोग के िलए िनयमǂ की सूची का संदभµ देकर, ×पȌ गलत 
वतµनी और ȅाकरणीय čुिटयǂ की पहचान करता है।
Options :
1.  (i) सही (ii) सही
2.  (i) सही (ii) गलत
3.  (i) गलत (ii) सही
4.  (i) गलत (ii) गलत
   

Question Number : 18 Question Id : 2549899552 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the standard measure of print resolution?
Options :
1.  SPI(Strokes Per Inch)

2.  DPI (Dots Per Inch)

3.  LPI(Letters Per Inch)

4.  WPI(Words Per Inch)

   

Question Number : 18 Question Id : 2549899552 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िĒंट िर_ोÒयूशन की मानक माप ·या ह?ै

Options :
1.  SPI (×Ĉोक पर इंच)
2.  DPI (डॉट्स पर इंच)
3.  LPI (लैटसµ पर इंच)
4.  WPI (वड्µस पर इंच)
   

Question Number : 19 Question Id : 25498910868 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In which of the following tabs of MS-Word 2019 is the 'Themes' option available?
Options :
1.   Home



2.  Data

3.  Insert

4.  Design

   

Question Number : 19 Question Id : 25498910868 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-वडµ 2019 (MS-Word 2019) मƶ िनÏनिलिखत मƶ से िकस टैब मƶ 'Themes' िवकÒप उपलÍध होता है?
Options :
1.  Home

2.  Data

3.  Insert

4.  Design

   

Question Number : 20 Question Id : 25498911235 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following has a pre-created table saved into one of the building block galleries to 
give easy access to many of the most commonly used table layouts in MS-Word 2019?
Options :
1.  Draw Table

2.  Quick Tables

3.  Insert Table

4.  Table

   

Question Number : 20 Question Id : 25498911235 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से िकसमƶ, एमएस-वडµ 2019 (MS-Word 2019) मƶ सवाµिधक उपयोग िकए जाने वाले कई टेबल लेआउट तक आसान पƓचं 
Ēदान करने के िलए एक िबिÒडंग Íलॉक गैलरी मƶ एक पूवµ-िनिमंत तािलका सहेजी गई होती ह?ै

Options :
1.  Draw Table

2.  Quick Tables

3.  Insert Table

4.  Table

   

Question Number : 21 Question Id : 25498913445 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



GIF image files are commonly used on the web to display ______.
Options :
1.  archival copies

2.  vector artwork

3.  video recordings

4.  graphics and logos

   

Question Number : 21 Question Id : 25498913445 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
GIF इमेज bाइलǂ का उपयोग आमतौर पर वेब पर ______ Ēदिशतं करने के िलए िकया जाता है।
Options :
1.  आकाµइवल कॉपी
2.  वे·टर आटµवकµ
3.  वीिडयो िरकॉिडंग
4.  Āािफ·स और लोगो
   

Question Number : 22 Question Id : 25498913509 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
_____ file format is a replacement of GIF file format.
Options :
1.  BMP

2.  SWF

3.  JPEG

4.  PNG

   

Question Number : 22 Question Id : 25498913509 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
_____ bाइल Ēाƞप, GIF bाइल Ēाƞप का Ēित×थापन है।
Options :
1.  BMP

2.  SWF

3.  JPEG

4.  PNG

   

Question Number : 23 Question Id : 25498913845 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
In public-key cryptography, the recipient's public and private keys are ______.
Options :
1.  similar

2.  different

3.  sometimes similar

4.  always similar

   

Question Number : 23 Question Id : 25498913845 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
सावµजिनक-कंुजी िþËटोĀाफी मƶ, ĒाËतकताµ की सावµजिनक और िनजी कंुिजयाँ ______ होती हƹ।
Options :
1.  समान
2.  िभȃ
3.  कभी-कभी समान
4.  सदैव समान
   

Question Number : 24 Question Id : 25498918512 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In which option of settings in Windows 11 is the choice to select a specific printer as default 
printer available? 
Options :
1.  Bluetooth & devices

2.  Network & Internet 

3.  Personalisation

4.  System

   

Question Number : 24 Question Id : 25498918512 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Windows 11 मƶ सेिटं¹स के िकस िवकÒप मƶ िकसी िविशȌ िĒंटर को िडbॉÒट िĒंटर के ƞप मƶ चुनने का िवकÒप उपलÍध होता ह?ै

Options :
1.  Bluetooth & devices

2.  Network & internet

3.  Personalisation

4.  System

   



Question Number : 25 Question Id : 25498922658 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which basic steps of troubleshooting will you follow if a wireless mouse is not working? 
Options :
1.  Making sure the mouse is receiving power; or else, replacing the LAN card.

2.  Making sure the mouse is receiving power. Replacing the batteries if the mouse does not 
appear to be ON. Making sure the wireless receiver is within the range of the mouse.

3.  Making sure the mouse is receiving power. Replacing the RAM if the mouse does not 
appear to be ON.

4.  Making sure the wireless receiver is within the range of the mouse. Replacing the hard 
disk of the computer.

   

Question Number : 25 Question Id : 25498922658 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
यिद वायरलेस माउस काम नहƭ कर रहा है तो आप सम×या िनवारण के कौन से मूल चरण अपनाएगें?

Options :
1.  यह सुिनिȆत करना िक माउस को िबजली िमल रही ह;ै अÊयथा, LAN काडµ को बदलना।
2.  सिुनिȆत करना िक माउस को िबजली िमल रही है। यिद माउस ON नहƭ िदखता है तो बैटरी बदलना। सुिनिȆत करना िक वायरलेस 
िरसीवर, माउस की रƶज मƶ है।
3.  सिुनिȆत करना िक माउस को िबजली िमल रही है। यिद माउस ON नहƭ िदखता है तो RAM को बदलना।
4.  यह सुिनिȆत करना िक वायरलेस िरसीवर माउस की रƶज मƶ है। कंËयटूर की हाडµ िड×क को बदलना।
   

Question Number : 26 Question Id : 25498924082 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In Windows file system, the path of a folder is a drive character followed by a list of folders. The 
folders are separated by a _________ character.
Options :
1.  ;

2.  /

3.  \

4.  -

   

Question Number : 26 Question Id : 25498924082 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Windows bाइल िस×टम मƶ, bोÒडर का पथ एक Ċाइव कैरे·टर होता है िजसके बाद bोÒडसµ की एक सूची होती है। bोÒडसµ को 
_________ कैरे·टर Ǽारा पृथक िकया जाता है।



Options :
1.  ;

2.  /

3.  \

4.  -

   

Question Number : 27 Question Id : 25498924315 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following operating systems comes with built-in support for client-server 
networking?
Options :
1.  Windows 98

2.  Windows 3.1

3.  MS-DOS

4.  Windows 2000

   

Question Number : 27 Question Id : 25498924315 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा ऑपरिेटंग िस×टम, ·लाइंट-सवµर नेटविकंग के िलए िबÒट-इन सपोटµ के साथ आता है?
Options :
1.  Windows 98

2.  Windows 3.1

3.  MS-DOS

4.  Windows 2000

   

Question Number : 28 Question Id : 25498924460 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Windows 10 was initially offered free of cost for the first year to users of:
Options :
1.  Windows 7 and Windows Vista

2.  Windows 7 and Windows 2000

3.  Windows 7 and Windows 8

4.  Windows 7 and Windows XP

   

Question Number : 28 Question Id : 25498924460 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
िकन उपयोगकताµǓ के िलए िवंडो_ 10 (Windows 10) को Ēथम वषµ के िलए िनःशुÒक उपलÍध कराया गया था?
Options :
1.  Windows 7 और Windows Vista

2.  Windows 7 और Windows 2000

3.  Windows 7 और Windows 8

4.  Windows 7 और Windows XP

   

Question Number : 29 Question Id : 25498924595 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following file types can be opened by using the .pix file extension?
Options :
1.  Audio

2.  Video

3.  Image

4.  Document

   

Question Number : 29 Question Id : 25498924595 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से िकस  Ēकार की bाइल, .pix bाइल ए·सटƶशन का उपयोग करके खोली जा सकती है?
Options :
1.  ऑिडयो
2.  वीिडयो
3.  इमेज
4.  डॉ·युमƶट
   

Question Number : 30 Question Id : 25498940436 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following options aptly describes testing?
Options :
1.  Debugging the code

2.  Finding the broken code

3.  Stage of all the projects

4.  Evaluating the deliverable to find errors

   

Question Number : 30 Question Id : 25498940436 Question Type : MCQ Option Shuffling : 



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा िवकÒप परी³ण (testing) का सटीक वणµन करता है?
Options :
1.  कोड डीबग करना
2.  टूटे कोड को ढँूढना
3.  सभी पिरयोजनाǓ के चरण
4.  čुिटयाँ खोजने के िलए िडलीवरेबल (deliverable) का मूÒयांकन करना
   

Question Number : 31 Question Id : 2549896750 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
______ provides a fast and efficient alternative to traditional mail for sending and receiving 
electronic documents.
Options :
1.  Topology

2.  E-mail

3.  E-shopping

4.  Revolution

   

Question Number : 31 Question Id : 2549896750 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
______ इले·Ĉॉिनक द×तावे_ भेजने और ĒाËत करने के िलए पारंपिरक मेल का एक ते_ और कुशल िवकÒप Ēदान करता है।
Options :
1.  टोपोलॉजी (Topology)

2.  ई-मेल (E-mail)

3.  ई-शॉिपंग (E-shopping)

4.  िरवोÒयूशन (Revolution)

   

Question Number : 32 Question Id : 2549897091 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following powerful tools of MS-Excel 2019 is used to calculate, summarise and 
analyse the data and lets you see comparisons, patterns and trends in your data?
Options :
1.  Page Layout

2.  PivotTable

3.  Queries & Connections



4.  Forecast Sheet

   

Question Number : 32 Question Id : 2549897091 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-ए·सले 2019 (MS-Excel 2019) के िकस शिǣशाली टूल को डेटा की गणना, सारांश और िवȊेषण करने के िलए 
उपयोग िकया जाता है और आप अपने डेटा मƶ तुलना, पैटनµ और Ɲझान देख सकते हƹ?
Options :
1.  Page Layout

2.  PivotTable

3.  Queries & Connections

4.  Forecast Sheet

   

Question Number : 33 Question Id : 2549899062 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following would be the most appropriate example of a search engine/portal?
Options :
1.  Amazon

2.  Yahoo

3.  Android Ice Cream Sandwich

4.  eBay

   

Question Number : 33 Question Id : 2549899062 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन सा सचµ इंजन/पोटµल का सबसे उपयǣु उदाहरण है?
Options :
1.  Amazon

2.  Yahoo

3.  Android Ice Cream Sandwich

4.  eBay

   

Question Number : 34 Question Id : 25498911060 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Organised and classified data which has some meaningful value for the receiver is called 
______.
Options :



1.  paragraph

2.  mail

3.  message

4.  information

   

Question Number : 34 Question Id : 25498911060 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
संगिठत एवं वगƮकृत डेटा िजसका ĒाËतकताµ के िलए कुछ साथµक मूÒय होता है, वह______ कहलाता है।
Options :
1.  पैराĀाफ (paragraph)

2.  मेल (mail)

3.  संदेश (message)

4.  सूचना (information)

   

Question Number : 35 Question Id : 25498911080 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following computer ports connects to a network and high-speed internet?
Options :
1.  Serial

2.  Ethernet

3.  VGA

4.  DVI

   

Question Number : 35 Question Id : 25498911080 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सा कंËयटूर पोटµ नेटवकµ  और हाई-×पीड इंटरनेट से जु`ता है?
Options :
1.  सीिरयल (Serial)

2.  ईथरनेट (Ethernet)

3.  वी जी ए (VGA)

4.  डी वी आई (DVI)

   

Question Number : 36 Question Id : 25498911505 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The ______ box presupposes that Microsoft 365 can recognise when you are starting a new 
sentence while using Autocorrect options.
Options :
1.  Correct two initial capitals

2.  Capitalise first letter of sentence

3.  Capitalise first letter of table cells

4.  Capitalise names of days

   

Question Number : 36 Question Id : 25498911505 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Autocorrect िवकÒपǂ का उपयोग करते समय,______ बॉ·स के अनुसार, जब आप एक नया वा·य शुƞ करते हƹ तो 
माइþोसॉÌट 365 (Microsoft 365) इसे पहचान सकता है।
Options :
1.  Correct two initial capitals (दो आरिंभक ब`े अ³रǂ को सही करƶ)
2.  Capitalise first letter of sentence (वा·यǂ के पहले अ³र को ब`ा करƶ)
3.  Capitalise first letter of table cells (टेबल सेÒस के पहले अ³र को ब`ा करƶ)
4.  Capitalise names of days (िदनǂ के नाम कैिपटलाइ_ करƶ)
   

Question Number : 37 Question Id : 25498911927 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2019, if you want to adjust the spacing and alignment of columns, click - hold - 
drag the ______ on the Ruler until the columns appear the way you want.
Options :
1.  indent markers 

2.  space bar

3.  points

4.  lines

   

Question Number : 37 Question Id : 25498911927 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-वडµ 2019 (MS-Word 2019) मƶ, यिद आप कॉलमǂ की ×पेिसगं और अलाइनमेÊट को समायोिजत करना चाहते हƹ, तो 
Ruler पर ______ को ि·लक – होÒड- Ċैग करƶ जब तक िक कॉलम आपके इि¼छत तरीके से न बन जाए।ं
Options :
1.  इंडƶट माकµ र (indent markers)

2.  ×पसे बार (space bar)

3.  पॉइंट (points)



4.  लाइनƶ (lines)

   

Question Number : 38 Question Id : 25498913336 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to open the Paragraph dialogue box in MS-Word 2019?
Options :
1.  ALT + H + P + G

2.  ALT + H + A + O

3.  ALT + H + P

4.  ALT + H + G

   

Question Number : 38 Question Id : 25498913336 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-वडµ 2019 (MS-Word 2019) मƶ Paragraph डायलॉग बॉ·स खोलने के िलए कीबोडµ शॉटµकट ·या है?
Options :
1.  ALT + H + P + G

2.  ALT + H + A + O

3.  ALT + H + P

4.  ALT + H + G

   

Question Number : 39 Question Id : 25498924658 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which tab does Alt + G in MS-Word 2019 highlight?
Options :
1.  Home tab

2.  Page Layout tab

3.  Design tab

4.  View tab

   

Question Number : 39 Question Id : 25498924658 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-वडµ 2019 (MS-Word 2019) मƶ Alt + G िकस टैब को हाइलाइट करता है?
Options :
1.  Home टैब 
2.  Page Layout टैब 



3.  Design टैब
4.  View टैब
   

Question Number : 40 Question Id : 25498924667 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following options in MS-PowerPoint 2019 can be used to minimise the ribbon so 
that only the tab names are shown?
Options :
1.  Ribbon Display Options

2.  Work Area

3.  Quick access

4.  Thumbnail

   

Question Number : 40 Question Id : 25498924667 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-पावरपॉइंट 2019 (MS-PowerPoint 2019) मƶ िनÏनिलिखत मƶ से कौन-सा िवकÒप िरबन को छोटा (minimise) 
करने के िलए इ×तेमाल िकया जा सकता है िजससे केवल टैब के नाम िदखाई देते हƹ?
Options :
1.  िरबन िड×Ëले ऑËशÊस (Ribbon Display Options)

2.  वकµ  एिरया (Work Area)

3.  ि·वक ए·ससे (Quick access)

4.  थंबनेल (Thumbnail)

   

Question Number : 41 Question Id : 25498925196 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
LAN' stands for:
Options :
1.  Little Area Network

2.  Local Area Network

3.  Land Area Network

4.  Lighter Area Network

   

Question Number : 41 Question Id : 25498925196 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
LAN' का ·या ताÆपयµ है?



Options :
1.  Little Area Network (िलिटल एिरया नेटवकµ )
2.  Local Area Network (लोकल एिरया नेटवकµ )
3.  Land Area Network (लƹड एिरया नेटवकµ )
4.  Lighter Area Network (लाइटर एिरया नेटवकµ )
   

Question Number : 42 Question Id : 25498925230 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A ______ is a device that forwards packets between networks by processing the routing 
information included in a packet.
Options :
1.  router

2.  firewall

3.  switch

4.  hub

   

Question Number : 42 Question Id : 25498925230 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
______ एक िडवाइस है जो िकसी पैकेट मƶ शािमल ƞिटंग जानकारी को संसािधत करके नेटवकµ  के बीच पैकेट को अĀेिषत करती 
है।
Options :
1.  राउटर
2.  bायरवॉल
3.  ि×वच
4.  हब
   

Question Number : 43 Question Id : 25498938390 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a broadband internet service?
Options :
1.  DSL

2.  Dial-up

3.  Satellite

4.  Cable

   



Question Number : 43 Question Id : 25498938390 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत मƶ से कौन-सी Ĕॉडबƹड इंटरनेट सेवा नहƭ है?
Options :
1.  डीएसएल (DSL)

2.  डायल-अप (Dial-up)

3.  सैटेलाइट (Satellite)

4.  केबल (Cable)

   

Question Number : 44 Question Id : 25498941567 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements with reference to the number system is true?
Options :
1.  The number of digits used to represent value numbers is the radix (r) value.

2.  The number of unique digits, including the digit zero, used to represent numbers is the 
radix (r) value.

3.  The number of unique digits, excluding the digit zero, used to represent numbers is the 
radix (r) value.

4.  The number of digits with natural numbers, which are used to represent numbers is the 
radix (r) value.

   

Question Number : 44 Question Id : 25498941567 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
सं¸या Ēणाली के संदभµ मƶ िनÏनिलिखत मƶ से कौन-सा कथन सÆय है?
Options :
1.  मान सं̧ याǓ को दशाµने के िलए Ēयुǣ अंकǂ की सं¸या मूलांक (r) मान है।
2.  सं¸याǓ को दशाµने के िलए Ēयǣु शूÊय अंक सिहत अिǼतीय अंकǂ की सं¸या मूलांक (r) मान है।
3.  सं¸याǓ को दशाµने के िलए Ēयǣु शूÊय अंक को छो`कर, अिǼतीय अंकǂ की सं¸या मूलांक (r) मान है।
4.  Ēाकृितक सं̧ याǓ वाले अंकǂ की सं¸या, िजनका उपयोग सं̧ याǓ को दशाµने के िलए िकया जाता है, मूलांक (r) मान है।
   

Question Number : 45 Question Id : 25498941571 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The ASCII value of 'A' in decimal is _______.
Options :
1.  66



2.  97

3.  32

4.  65

   

Question Number : 45 Question Id : 25498941571 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
दशमलव मƶ 'A' का ASCII मान _______ होता है।
Options :
1.  66

2.  97

3.  32

4.  65

   

Question Number : 46 Question Id : 25498941585 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
___________ is a mathematical function used in MS-Excel 2019.
Options :
1.  IF()

2.  VLOOKUP()

3.  SQRT()

4.  DATEVALUE()

   

Question Number : 46 Question Id : 25498941585 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
___________ एमएस-ए·सेल 2019 (MS-Excel 2019) मƶ उपयोग िकया जाने वाला एक गिणतीय bं·शन है।
Options :
1.  IF()

2.  VLOOKUP()

3.  SQRT()

4.  DATEVALUE()

   

Question Number : 47 Question Id : 25498941591 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following functions in MS-Excel 2019 is used to apply a criterion to one range and 
to sum the corresponding values in a different range?



Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 47 Question Id : 25498941591 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-ए·सले 2019 (MS-Excel 2019) मƶ िनÏनिलिखत मƶ से कौन-सा bं·शन, एक रƶज मƶ मानदंड लागू करने और एक िभÊन 
रƶज मƶ संगत मानǂ को जो`ने के िलए उपयोग िकया जाता है?
Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 48 Question Id : 25498941612 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The table range shrinks automatically when you _________ of the data in MS-Excel.
Options :
1.  add rows

2.  delete rows

3.  modify rows

4.  update rows

   

Question Number : 48 Question Id : 25498941612 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-ए·सले (MS-Excel) मƶ जब आप डेटा की _________ करते हƹ तो तािलका रƶज ×वत: संकुिचत हो जाती है।



Options :
1.  रो ऐड
2.  रो िडलीट
3.  रो मॉिडफाई
4.  रो अपडेट
   

Question Number : 49 Question Id : 25498941616 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

 
 
The given table is an example of the __________________ function in MS-Excel 2019.
Options :
1.  SUM

2.  SORT

3.  FILTER

4.  AVG

   

Question Number : 49 Question Id : 25498941616 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

 



 
दी गई तािलका एमएस-ए·सेल 2019. (MS-Excel 2019) मƶ __________________ bं·शन का एक उदाहरण है।
Options :
1.  SUM

2.  SORT

3.  FILTER

4.  AVG

   

Question Number : 50 Question Id : 25498941632 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The hexadecimal equivalent of decimal 11 is ______.
Options :
1.  A

2.  B

3.  C

4.  D

   

Question Number : 50 Question Id : 25498941632 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
दशमलव 11 का षोडशाधारी (hexadecimal) समतुÒय ______ है।
Options :
1.  A

2.  B

3.  C

4.  D

   

Question Number : 51 Question Id : 25498941636 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The decimal equivalent of octal 10 is _______.
Options :
1.  6

2.  8

3.  10

4.  11

   

Question Number : 51 Question Id : 25498941636 Question Type : MCQ Option Shuffling : 



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
अȌक 10 का दशमलव समतुÒय _______ है।
Options :
1.  6

2.  8

3.  10

4.  11

   

Question Number : 52 Question Id : 25498941646 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The intersection of a row and a column in an MS-Excel worksheet is known as _______.
Options :
1.  data

2.  a cell

3.  a macro

4.  a table

   

Question Number : 52 Question Id : 25498941646 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एमएस-ए·सले (MS-Excel) वकµ शीट मƶ एक पंिǣ और एक कॉलम के Ēित¼छेद को _______ के ƞप मƶ जाना जाता है।
Options :
1.  डेटा
2.  सेल
3.  मैþो
4.  टेबल
   
   

READING COMPREHENSION
Section Id : 2549898422
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes



Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898463
Question Shuffling Allowed : No
   

Question Id : 25498921337 Question Type : COMPREHENSION Sub Question Shuffling 
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow. 
 
I can still remember my first encounter with the fear of the supernatural. I was about 8 years 
old and my younger brother Sonu was 7. We lived in Meghalaya in a huge bungalow with large 
lawns. On a Saturday night it started raining heavily. Our parents had gone to the club. Father 
rang up to tell us that they would not be driving home in the storm and that we should lock the 
house up from inside. 
 
All of a sudden, there was a huge crack of lightning and the lights went off. I was in my bed at 
that time − and started shaking with fear. My younger brother came running, “Didi, can I sleep 
with you?” I was scared too but like a very brave elder sister I took charge. I lit an oil lamp and 
went to the kitchen to get some snacks. As time passed, we pretended to be brave and grown 
up. We pretended that together we could face anything. Soon the oil in the lamp went down 
and we decided that we should go to sleep. 
 
Then, suddenly, a loud crashing sound followed by a huge earthquake woke us up. All 
pretence at bravery was over. It was pitch dark. I started crying. Now, it was Sonu’s turn to be 
the brave brother. Both of us held hands and walked towards the living room with Sonu 
leading this time. At some distance from the window of the room, we could see, the outer 
boundary wall on and off in the lightning. There, in the flickering light, on the wall, we saw two 
heads looking straight at us. We screamed and held on to each other. Both of us sat down on 
the sofa with our eyes fixed on the wall. We could not take our eyes off from the two people 
peering at us all night. In that state of fear, we don’t know when we fell asleep. 
 
Our parents returned in the morning and woke us up. Our eyes went back to the wall. What we 
saw had us speechless. Two coconut halves stood on the wall! We had actually spent the entire 
night in fear of two harmless coconut shells!
Sub questions
 
Question Number : 53 Question Id : 25498921338 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The narrator was shaking in her bed because:
Options :
1.  she was alone in the house

2.  there was lightning and power failure

3.  there was a huge earthquake



4.  it was very cold and dark

 
Question Number : 54 Question Id : 25498921339 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Why did the children pretend to be grown up?
Options :
1.  Their parents were not home.

2.  They wanted to have some fun.

3.  They wanted to overcome their fears.

4.  They loved playing pretend games.

 
Question Number : 55 Question Id : 25498921340 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Why could the boundary wall be seen on and off?
Options :
1.  It was raining heavily and there was no light.

2.  It could be seen only when the lightening flashed.

3.  The wall was very far from the window.

4.  The wall was shaking due to an earthquake.

 
Question Number : 56 Question Id : 25498921341 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What strange sight did the children see?
Options :
1.  The flash of lightning

2.  Thunder and storm

3.  The wall being visible on and off

4.  Two people staring at them from the wall

 
Question Number : 57 Question Id : 25498921342 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The message that we get from this incident is that:
Options :
1.  children should not be left alone

2.  appearances can be misleading

3.  we should take care of our family



4.  we should face problems bravely

   

Question Id : 25498921337 Question Type : COMPREHENSION Sub Question Shuffling 
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)
िदए गए गȁांश को पaƶ  और उसके आधार पर Ēȋǂ के उǶर दƶ। 
 
िकसी अलौिकक शिǣ से सामना होने की वह भयानक ि×थित मुझे आज भी याद है। मƹ तब लगभग 8 वषµ की और मेरा छोटा भाई 
सोनू 7 वषµ का था। हम मेघालय मƶ ब`े लॉन वाले एक ब`े बंगले मƶ रहते थे। शिनवार रात को भारी बािरश हो रही थी। हमारे माता-
िपता ·लब गए Ɠए थे। िपताजी ने हमƶ यह बताने के िलए फोन िकया िक वे तूफान मƶ घर नहƭ आ सकƶ गे और हमƶ घर अंदर से बंद 
कर लेना चािहए। 
 
अचानक, तेज िबजली क`की और घर की लाइट चली गई। मƹ उस समय अपने िब×तर मƶ थी और भय से कांपने लगी। मेरा छोटा 
भाई दौ`ता Ɠआ आया, "दीदी, ·या मƹ तुÏहारे साथ सो सकता Ɣ?ँ" हालांिक मƹ भी डरी Ɠई थी लेिकन एक बहाƟर ब`ी बहन होने 
की वजह से मƹने मोचाµ संभाला। मƹने तेल का िदया जलाया और कुछ नाÕता लेने के िलए रसोई की ओर गई। जैसे-जैसे समय बीतने 
लगा, हम यह सोचकर खुद को िदलासा देने लगे िक हम बहाƟर और ब`े हƹ। हम यह भी सोच रहे थे िक एक साथ हम िकसी का भी 
सामना कर सकते हƹ। कुछ देर बाद जब िदये की रोशनी मिǽम होने लगी, तो हमने फैसला िकया िक हमƶ सो जाना चािहए। 
 
िफर, अचानक से क`क`ाहट की आवा_ भूकंप के झटके के साथ आई िजससे हमारी नƭद खुल गई। बहाƟरी का सारा नाटक 
खÆम हो गया था। अंधेरा बƓत घना था। मƹने रोना शƝु कर िदया। अब, सोनू की बहाƟर भाई बनने की बारी थी। हम दोनǂ ने एक-
Ơसरे  का हाथ पक` िलया और इस बार सोनू की अगुवाई मƶ िलिवंग ƞम की ओर चले। कमरे की िख`की से कुछ Ơरी पर, हम 
बाहर दीवार को जलती और बुझती रोशनी मƶ देख रहे थे। वहां, चमचमाती रोशनी मƶ, दीवार पर हमने दो िसरǂ को सीधे हमƶ देखते 
Ɠए देखा। हम िचÒलाए और एक-Ơसरे को पक` िलया। हम दोनǂ सोफे पर बैठ गए और हमारी न_र दीवार पर ही िटकी रही। हम 
पूरी रात भर उन दोनǂ पर से हमारी िनगाह नहƭ हटा सके जो हमƶ घूर रहे थे। डर की ि×थित मƶ, हमƶ पता ही नहƭ चला िक हम कब सो 
गए। 
 
हमारे माता-िपता सुबह लौट आए और हमƶ जगाया। हमारी आँखƶ वापस दीवार पर गǍ। हमने जो देखा वह उसने हमƶ िनःशÍद कर 
िदया था। दीवार पर नािरयल के दो आधे टुक`े रखे Ɠए थे! हमने वा×तव मƶ पूरी रात नािरयल के दो टुक`ǂ के डर मƶ िबताई थी!
Sub questions
 
Question Number : 53 Question Id : 25498921338 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
कहानीकार अपने िब×तर मƶ कांप ·यǂ रही थी?
Options :
1.  ·यǂिक वह घर मƶ अकेली थी
2.  ·यǂिक आसमान मƶ िबजली चमक रही थी और उसके घर की लाइट चली गई थी
3.  ·यǂिक बƓत भयानक भूकंप आया था
4.  ·यǂिक बƓत ठंड और अंधेरा था
 
Question Number : 54 Question Id : 25498921339 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
ब¼चǂ ने ब`े होने का नाटक ·यǂ िकया?
Options :
1.  ·यǂिक उनके माता-िपता घर पर नहƭ थे
2.  ·यǂिक वे मजा करना चाहते थे
3.  ·यǂिक वे अपने डर पर िवजय ĒाËत करना चाहते थे
4.  ·यǂिक उÊहƶ नाटक खेलना पसंद था
 
Question Number : 55 Question Id : 25498921340 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
बाहर की दीवार बार-बार िदख और ओझल ·यǂ हो रही थी?
Options :
1.  बािरश होने और लाइट नहƭ होने के कारण
2.  आसमान मƶ िबजली के चमकने के कारण
3.  िख`की से बƓत Ơर होने के कारण
4.  भूकंप मƶ दीवार िहलने के कारण
 
Question Number : 56 Question Id : 25498921341 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ब¼चǂ ने ·या अजीब ơÕय देखा?
Options :
1.  िबजली का चमकना
2.  गरज और तूफान
3.  दीवार का िदखना और ओझल होना
4.  दीवार से उÊहƶ घूरते Ɠए दो लोग
 
Question Number : 57 Question Id : 25498921342 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
इस घटना से हमƶ ·या िश³ा िमलती है?
Options :
1.  ब¼चǂ को अकेला नहƭ छो`ना चािहए
2.  देखी गई ची_ƶ हमारा ĕम भी हो सकती हƹ
3.  हमƶ अपने पिरवार का ¸याल रखना चािहए
4.  हमƶ बहाƟरी से सम×याǓ का सामना करना चािहए
   



   

QUANTITATIVE APTITUDE
Section Id : 2549898423
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898464
Question Shuffling Allowed : Yes
   

Question Number : 58 Question Id : 25498928818 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
There are two numbers such that the sum of twice the first number and thrice the second 
numbers is 100 and the sum of thrice the first number and twice the second number is 120. 
Which is the larger number?
Options :
1.  32

2.  12

3.  14

4.  35

   

Question Number : 58 Question Id : 25498928818 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
दो सं¸याǓ मƶ, पहली सं¸या के दोगुने और Ơसरी सं̧ या के ितगुने का योग 100 है तथा पहली सं̧ या के तीन गुने और Ơसरी 
सं¸या के दोगुने का योग 120 है। ब`ी सं¸या कौन-सी है?
Options :
1.  32

2.  12

3.  14

4.  35

   

Question Number : 59 Question Id : 25498928972 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
What approximate value should come in place of the question mark (?) in the given expression? 
 

Options :
1.  667

2.  777

3.  605

4.  700

   

Question Number : 59 Question Id : 25498928972 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :
1.  667

2.  777

3.  605

4.  700

   

Question Number : 60 Question Id : 25498929058 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the given number series? 
 
17    9    10    16.5    35    ?
Options :
1.  192

2.  80

3.  114

4.  90

   

Question Number : 60 Question Id : 25498929058 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
दी गई सं̧ या Ĝृंखला मƶ Ēȋवाचक िचÊह (?) के ×थान पर ·या आएगा? 



17   9   10   16.5   35   ?
Options :
1.  192

2.  80

3.  114

4.  90

   

Question Number : 61 Question Id : 25498929129 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The first number is twice the second number and half the third number. The average of these 
numbers is 35. What is the value of the smallest number?
Options :
1.  15

2.  30

3.  45

4.  60

   

Question Number : 61 Question Id : 25498929129 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
पहली सं¸या, Ơसरी सं̧ या की दोगुनी और तीसरी सं̧ या की आधी है। इन सं̧ याǓ का औसत 35 है। सबसे छोटी सं̧ या का मान 
·या होगा?
Options :
1.  15

2.  30

3.  45

4.  60

   

Question Number : 62 Question Id : 25498929550 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

1.   
 

2.   



 

3.   
 

4.   
 

   

Question Number : 62 Question Id : 25498929550 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
धातु के दो ठोस गोलǂ की िč¾याए ंr1 और r2 हƹ। उनको िपघलाकर r1 +r2 ऊंचाई का एक ठोस शंकु बनाया गया है। शंकु के 
आधार की िč¾या िकतनी होगी?
Options :

1.   
 

2.   
 

3.   
 

4.   
 

   

Question Number : 63 Question Id : 25498929629 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A trader sells an article at ₹a after offering a discount of d% on its marked price. Had he not 
offered the discount, he would have earned a profit of b% on the cost price. The cost price of 
the article is:
Options :

1.   
 

2.   
 

3.   
 



4.   
 

   

Question Number : 63 Question Id : 25498929629 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
एक ȅापारी एक व×तु को, उसके अिंकत मूÒय पर d% की छूट देने के बाद ₹a पर बेचता है। यिद उसने छूट नहƭ दी होती, तो उसे 
þय मूÒय पर b% का लाभ होता। व×तु का þय मूÒय िकतना है?
Options :

1.   
 

2.   
 

3.   
 

4.   
 

   
   

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549898424
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898465
Question Shuffling Allowed : Yes
   

Question Number : 64 Question Id : 25498910149 Question Type : MCQ Option Shuffling : 



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third term in the same way as the second term is related 
to the first term. 
 
Wine : Grapes :: Jaggery : ?
Options :
1.  Potatoes

2.  Apples

3.  Oranges

4.  Sugarcane

   

Question Number : 64 Question Id : 25498910149 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
उस िवकÒप का चयन कीिजए जो तीसरे पद से उसी Ēकार संबंिधत है िजस Ēकार Ơसरा पद Ēथम पद से संबंिधत है। 
 
शराब : अंगूर :: गु` : ?
Options :
1.  आलू
2.  सेब
3.  संतरा
4.  गȃा
   

Question Number : 65 Question Id : 25498912930 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In the following series of letters, a defined order exists. Which letters will be the next two 
letters in the correct order? 
 
A J K T U B I L S V C H M R W D G N Q X E F O __ __
Options :
1.  PY

2.  PZ

3.  YZ

4.  ZA

   

Question Number : 65 Question Id : 25498912930 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
िनÏनिलिखत अ³र-Ĝृंखला मƶ एक िनिȆत þम मौजूद है। सही þम मƶ अगले दो अ³र कौन से हǂगे? 



 
A J K T U B I L S V C H M R W D G N Q X E F O __ __
Options :
1.  PY

2.  PZ

3.  YZ

4.  ZA

   

Question Number : 66 Question Id : 25498918997 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is similar to the given set of words and hence belongs to the same 
group. 
 
Calf, Kid, Pup
Options :
1.  Infant

2.  Young

3.  Larva

4.  Animal

   

Question Number : 66 Question Id : 25498918997 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
उस िवकÒप का चयन करƶ जो शÍदǂ के िदए गए समूह के समान है और इस Ēकार उस समूह से संबंिधत है। 
 
बछ`ा, ब¼चा, िपÒला
Options :
1.  िशशु
2.  युवा
3.  लावाµ
4.  जानवर
   

Question Number : 67 Question Id : 25498919894 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. 
Select the one that is different.
Options :
1.  Cap



2.  Turban

3.  Helmet

4.  Veil

   

Question Number : 67 Question Id : 25498919894 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
चार शÍद िदए गए हƹ, िजनमƶ से तीन िकसी तरह से समान हƹ और एक िभȃ है। िभȃ शÍद को चिुनए।
Options :
1.  टोपी
2.  पग`ी
3.  हेलमेट
4.  घंूघट
   

Question Number : 68 Question Id : 25498939870 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. 
Select the one that is different.
Options :
1.  Crimson

2.  Scarlet

3.  Vermillion

4.  Red

   

Question Number : 68 Question Id : 25498939870 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
चार शÍद िदए गए हƹ, िजनमƶ से तीन िकसी तरह से एकसमान हƹ और एक िभȃ है। िभȃ शÍद को चिुनए।
Options :
1.  गहरा लाल (Crimson)

2.  ककरेजी (Scarlet)  

3.  िसƠंर (Vermillion)

4.  लाल (Red)

   

Question Number : 69 Question Id : 25498939950 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
This question contains six statements followed by options consisting of three statements put 



together in a specific order. Select the option that indicates a valid argument containing 
logically related statements, that is, where the third statement is a conclusion drawn from the 
preceding two statements. 
 
A: Lizard are birds. 
B: Some birds are ants. 
C: Lizards are ants. 
D: Some lizards are ants. 
E: Some lizards are not ants. 
F: No lizard is an ant.
Options :
1.  ACE

2.  ADB

3.  BAC

4.  BFD

   

Question Number : 69 Question Id : 25498939950 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
इस Ēȋ मƶ छह कथन और उसके बाद िवकÒप िदए गए हƹ, तथा िवकÒपǂ मƶ तीन कथनǂ को एक िविशȌ þम मƶ एक साथ रखा गया 
है। वह िवकÒप चुनƶ जो तािककं ƞप से संबंिधत कथनǂ वाले वैध तकµ  को इंिगत करता है, अथाµत जहाँ तीसरा कथन िपछले दो 
कथनǂ से िनकाला गया िनÖकषµ है। 
 
A: िछपकिलयाँ, प³ी है। 
B: कुछ प³ी, चƭिटयाँ हƹ। 
C: िछपकिलयाँ, चƭिटयाँ हƹ। 
D: कुछ िछपकिलयाँ, चƭिटयाँ हƹ। 
E: कुछ िछपकिलयाँ, चƭिटयाँ नहƭ हƹ। 
F: कोई िछपकली, चƭटी नहƭ है।
Options :
1.  ACE

2.  ADB

3.  BAC

4.  BFD
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Question Number : 70 Question Id : 2549895304 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The monsoons start retreating from Punjab Plains by:
Options :
1.  mid-July

2.  mid-September

3.  mid-October

4.  December end

   

Question Number : 70 Question Id : 2549895304 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
पंजाब के मैदानǂ से मानसून की वापसी कब शुƞ हो जाती है?
Options :
1.  मÉय जुलाई से
2.  मÉय िसतंबर से
3.  मÉय अ·टूबर से
4.  िदसंबर के अंत से
   

Question Number : 71 Question Id : 25498912562 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Transboundary pollution or acid rain is caused by:
Options :
1.  nitrogen oxide and sulphur dioxide

2.  carbon monoxide

3.  carbon dioxide

4.  hydrocarbon

   

Question Number : 71 Question Id : 25498912562 Question Type : MCQ Option Shuffling : 



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
सीमापार ĒƠषण या अÏलीय वषाµ का कारण कौन-सा है?
Options :
1.  नाइĈोजन ऑ·साइड और सÒफर डाइऑ·साइड
2.  काबµन मोनोऑ·साइड
3.  काबµन डाइऑ·साइड
4.  हाइĊोकाबµन
   

Question Number : 72 Question Id : 25498912609 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Under optional conditions, the fruit fly (Drosophilae) is capable of producing a new generation 
every two weeks. This ability is referred to as the ______ of the species.
Options :
1.  carrying capacity

2.  niche

3.  biotic potential

4.  optimal yield

   

Question Number : 72 Question Id : 25498912609 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
वैकिÒपक पिरि×थितयǂ मƶ, फल म·खी (Ċोसोिफला) हर दो सËताह मƶ एक नई पीaी उÆपÊन करने मƶ स³म होती है। इस ³मता को Ēजाित की 
______ के ƞप मƶ संदिभंत िकया जाता है।
Options :
1.  वहन ³मता (carrying capacity)

2.  नीश (niche)

3.  जिैवक ³मता (biotic potential)

4.  इȌतम उपज (optimal yield)

   

Question Number : 73 Question Id : 25498922858 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Star fish is grouped under the phylum:
Options :
1.  Mollusca

2.  Fishes

3.  Arthropoda



4.  Echinodermata

   

Question Number : 73 Question Id : 25498922858 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
तारा मछली को िनÏनिलिखत मƶ से िकस संघ के अंतगµत वगƮकृत िकया गया है?
Options :
1.  मोल×का
2.  मÆ×य
3.  आĎǃपोडा
4.  एकाइनोडमƷटा
   

Question Number : 74 Question Id : 25498932470 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Where did Baba Ram Chandra organise the farmers in the 1920s?
Options :
1.  Awadh

2.  Bihar

3.  Bengal

4.  Andhra Pradesh

   

Question Number : 74 Question Id : 25498932470 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
1920 के दशक मƶ बाबा राम चÊď ने िकसानǂ को कहां संगिठत िकया?
Options :
1.  अवध
2.  िबहार
3.  बंगाल
4.  आंĐ Ēदेश
   

Question Number : 75 Question Id : 25498932587 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following Articles of the Constitution of India guarantees freedom to press?
Options :
1.  Article 16

2.  Article 19



3.  Article 22

4.  Article 31

   

Question Number : 75 Question Id : 25498932587 Question Type : MCQ Option Shuffling : 
Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
भारतीय संिवधान का िनÏनिलिखत मƶ से कौन सा अनु¼छेद Ēेस की ×वतंčता की गारटंी देता है?
Options :
1.  अनु¼छेद 16

2.  अनु¼छेद 19

3.  अनु¼छेद 22

4.  अनु¼छेद 31
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Sub-Section Number : 1
Sub-Section Id : 2549898467
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Is Section Default? : Yes
   

Question Number : 76 Question Id : 25498946268 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
Summer camps are supervised camps conducted to entertain as well as equip students 
with various life skills such as teamwork, socializing, decision making, independent and 
responsible living and more. It aids the overall development of a child and children have 
fun during this process as they get to explore new arenas.
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Group Number : 3
Group Id : 2549895281
Group Maximum Duration : 15
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Show Attended Group? : No
Edit Attended Group? : No
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English Typing Test
Section Id : 2549898427
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 2549898468
Question Shuffling Allowed : No
Is Section Default? : Yes
   

Question Number : 77 Question Id : 25498941563 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
You must familiarize yourself with the different available types of perfumes. Then only 
you will be able to choose the one best suited for you. You may be attracted to one 
particular scent. But to fully enjoy it your knowledge of different perfume types is 
important to help you choose the right variant. Different perfume types do not 
necessarily affect the scent or the overall quality of the product. They merely point out 
the concentration of the fragrance oils in the perfume. There are five common types of 
perfumes that exists. The main difference between these five perfume types is their 
fragrance oil concentration. Parfum is the perfume type with the highest fragrance oil 
concentration. It is for this reason that it remains to be the most expensive of the 
perfume types. A parfum contains about fifteen to forty percent fragrance oil 
concentration. This hight concentration makes it heavier and stronger and oily as well. 
Only a few dabs of parfum on the pulse points will last you the whole day. Its stronger 
scent makes it easier to identify compared to other perfume types. Eau de parfum is 
sometimes simply referred to as parfum and holds a fragrance oil concentration of ten to 
fifteen percent. They hold a lighter oil concentration and more alcohol and water 
concentration compared to parfum. Eau de parfum is still quite a strong perfume type 
and will last on your body for six to eight hours. Eau de parfum is not very easy to 
identify as it housed in a spray bottle or stopper bottle. Eau de toilette contains four to 
fifteen percent fragrance oil concentration. This lighter fragrance perfume is normally 
housed in a spray bottle due to its relatively lower fragrance oil concentration and high 
alcohol content. It lasts anywhere from two to four hours. This means that you will have 
to refresh it at some point during the day. Or replace it with stronger eau de parfum at 
night. Its relatively light body makes it a suitable option for office wear or any occasion 
where you do not want your perfume to be offensive. Eau de toilette is suitable for the 
warmer weather during the summer and spring seasons. Eau de cologne perfume type is 
originally formulated for people who want a lighter variation of a certain fragrance 
scent. Eau de cologne primarily holds a two to five percent fragrance oil concentration. 
Eau de cologne also lasts for two to four hours. This diluted perfume type is not only light 
but also offers the option of the fragrance scent you love at a cheaper price. Many 
expensive fragrances for men that come in an eau de cologne characteristic are normally 
marketed as a splash on or aftershave fragrance. Eau de fraiche is also known as 
fragrance water. It is the least expensive and least concentrated of the perfume types. It 
contains between one to three percent fragrance oil concentrations. Because of this 
ultra light fragrance oil concentration and high alcohol concentration this will usually 
dissipate within an hour or two and are housed in a spray bottle. Eau de fraiche loosely 
translates to freshwater. It is a great summer product for occasions at the beach or gym. 
You can use it to refresh after a workout or while chilling at the beach.
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Question Number : 78 Question Id : 25498946279 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उÊहƶ एक िहरण िदखा। जÒदबाजी मƶ तीर 
िनकालते Ɠए अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर बƓत ददµ मƶ था और गु×से मƶ भी।
Restricted/ Unrestricted : Unrestricted



Paragraph Display : Yes
Keyboard Layout : Remington
Show Details Panel : Yes
Show Error Count : Yes
Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes
Show Back Space Count : Yes

   
   

Hindi Actual
Group Number : 5
Group Id : 2549895283
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0
   
   

Hindi Typing Test
Section Id : 2549898429
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898470
Question Shuffling Allowed : No
Is Section Default? : Yes
   

Question Number : 79 Question Id : 25498945140 Question Type : TYPING TEST Display 
Question Number : Yes Calculator : None
गौतम बुध का आिवभाµव करीब ढाई हजार वषµ पूवµ महाराजा शुदधोदन के यहां Ɠआ था। इनकी माता का नाम महारानी महामाया 
था। इनके अवतरण के कुछ समय बाद माता के देहांत हो जाने के कारण बालक गौतम का लालन और पालन िवमाता Ē´ावती से 
Ɠआ। गौतम के िपता की संतान Ēापण की कामना इनकी पैदाइश से पूरी Ɠई थी। राजा अपने इस इकलौते पčु के Ēित अपार 



अनुराग रखते थे। गौतम दयालु और दाशµिनक Ēकृित के थे। वह िमतभाषी तथा िज´ासु Ēकृित के साथ साथ सहानुभूितपूणµ सहज 
Ēकृित के जनिĒय बालक थे। वह लोक जीवन जीते Ɠए परलोक की िचंतन रेखाǓ से िघरे Ɠए थे। दैव´ ने आकाशवाणी की थी िक 
गौतम जैसे बेटे का महाराज के यहां अवतिरत होना उनके िलए अिहवात की बात है और यह उनके कुल का नाम रौशन करेगा। 
गौतम बचपन से ही बƓत गंभीर और शांत Ēकृित के थे। आयु बढने के साथ साथ वह गंभीर व उदासीन होते चले गये। राजा ने 
गौतम की यह दशा देख आदेश िदया िक उसे एकांतवास मƶ ही रहने िदया जाए। गौतम को एक जगह एकांत मƶ रखा गया। गौतम को 
िकसी से कुछ बात करने या कहने की मनाही कर दी गयी। केवल खाने पीने नहाने कपडे आिद की सारी सिुवधायƶ दी गयƭ। सेवकǂ 
और दािसयǂ को भी यह आदेश िदया गया िक वे कुछ भी इधर उधर की बातƶ उनसे न करƶ। एकांतवास मƶ रहते Ɠए गौतम संसार के 
िव´ान के Ēित तथा Ēकृित के कायµ के Ēित िज´ासु हो गये थे। वह सुख सिुवधाǓ के Ēित कम और वैराग के Ēित अिधक Ēभािवत 
और मोिहत हो चले थे। िज´ासु मन अब और मचल गया। गौतम ने बाहर जाकर देखने घूमने और Ēकृित को पास से देखने की 
कामना Ēकट की। राजा ने उनकी यह कामना जान गौतम को राजभवन मƶ लौट आने का आदेश दे िदया लेिकन राजभवन मƶ लौटने 
पर गौतम की िचंतन रेखाए ंबढती चली गयƭ। महाराजा को राज जोितष ने यह साफ साफ कह िदया था िक यह बालक या तो 
चþवतƮ सĖाट बनेगा या िफर संसार के िकसी सबसे बडे धमµ को गित देनेवाला बनेगा। इस आकाशवाणी से राजा और सावधान हो 
गए। कहƭ गौतम वैरागी न बन जाए इसके िलए उनका िववाह राजकुमारी यशोधरा से िकया गया। इनसे एक बेटा पैदा Ɠआ। उसका 
नाम राƓल रखा गया। राजसी ठाटबाट सुंदर भायाµ का Ēेम व बेटे राƓल का अनुराग भी इनकी गंभीरता व उदासीनता को कम न कर 
सके। एक िदन गौतम ने शहर घूमने की कामना जताई। सारथी गौतम को रथ मƶ बैठाकर नगर से होते Ɠए कुछ Ơर तक ले गया था 
िक पथ मƶ गौतम ने देखा िक कुछ लोग एक शव को शमशान ले जा रहे हƹ। उन लोगǂ मƶ से कुछ लोगǂ की अĜधुारा बह रही थी और 
चेहरे लटके Ɠए थे। िज´ासु गौतम ने सारथी से इसके बारे मƶ पूछा तो सारथी ने बताया ये लोग मुदाµ ले जा रहे हƹ। गौतम ने िफर 
उसके बारे मƶ पूछा। गौतम के यह पूछने पर सारथी ने बताया िक इस शरीर से जीव के िनकल जाने पर यह शरीर माटी के समान हो 
जाता है िजसे मुदाµ कहते हƹ। इससे उनका मन िवराग से भर उठा। इस घटना के कुछ िदन बाद एक िदन ऐसा आया िक रात को सोते 
Ɠए गौतम अपनी भायाµ यशोधरा और पčु राƓल को छोड वैराग के मागµ पर चल पडे।
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